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QUESTION 1

Which statement about Range Clustered Tables (RCT) is correct? 

A. Storage space is not pre-allocated for an RCT. 

B. The ALTER TABLE statement can be used to change the physical structure of an RCT. 

C. When defining a range of key values for an RCT, a minimum value is optional. 

D. The minimum value of a key column for an RCT cannot be a negative value. 

Correct Answer: C 

 

QUESTION 2

Given the following CREATE TABLE statement: 

Which statement is correct? 

A. A range-clustered table is created and only values from 1 to 1000000 can be stored in the STUDENT_ID column. 

B. A range-partitioned table is created and only values from 1 to 1000000 can be stored in the STUDENT_ID column. 

C. A range-clustered table is created and values outside the range of 1 to 1000000 can be stored in the STUDENT_ID
column. 

D. A range-partitioned table is created and values outside the range of 1 to 1000000 can be stored in the STUDENT_ID
column. 

Correct Answer: C 

 

 

QUESTION 3

A query against the system catalog revealed that data for a table named SALES in a partitioned database is distributed
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as follows: 

What can be done to improve the performance of a query that joins SALES and DATE_DIM tables (where SALES is a
fact table and DATE_DIM is a dimension table) using the DATE_ID column? 

A. Reload table SALES and use only one partition with a collocated join to the DATE_DIM table using the primary key
DATE_ID 

B. Reload table DATE_DIM and use only one partition with a collocated join to the SALES table using the primary key
DATE_ID 

C. Create a replicated table REPL_SALES from the SALES table, refresh REPL_SALES table, create index on
DATE_ID column in the REPL_SALES table, and collect statistics on REPL_SALES table. 

D. Create a replicated table REPL_DATE_DIM from the DATE_DIM table, refresh REPL_DATE_DIM table, create index
on DATE_ID column in the REPL_DATE_DIM table, and collect statistics on REPL_DATE_DIM table. 

Correct Answer: D 

 

QUESTION 4

What are two supported methods for providing a low latency, high speed interconnect between DB2 members and the
cluster caching facility (CF) in a DB2 pureScale environment? (Choose two.) 

A. InfiniBand with RDMA (IB) 

B. SCSI RDMA Protocol (SRP) 

C. iSCSI Extensions for RDMA (iSER) 

D. RDMA over Converged Ethernet (RoCE) 

E. Internet Wide Area RDMA Protocol (iWARP) 

Correct Answer: AD 

 

QUESTION 5

Given the following output: 
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Which Explain procedure can be used to find the most expensive SQL statement in terms of CPU cost over a period of
time? 

A. EXPLAIN_FROM_DATA 

B. EXPLAIN_FROM_ACTIVITY 

C. EXPLAIN_FROM_SECTION 

D. EXPLAIN_FROM_CATALOG 

Correct Answer: B 
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